
Approche par programmation  
dynamique adaptative 

●  Un	
  problème	
  avec	
  l’approche	
  par	
  PDA	
  est	
  qu’on	
  doit	
  me(re	
  à	
  jour	
  toutes	
  les	
  
valeurs	
  de	
  V(s),	
  pour	
  tout	
  s,	
  après	
  chaque	
  observa:on	
  
u  très	
  coûteux	
  en	
  pra:que	
  si	
  le	
  nombre	
  d’états	
  est	
  grand	
  (ex.:	
  exponen:el)	
  
u  inu:le	
  pour	
  un	
  état	
  s	
  qui	
  n’est	
  pas	
  aCeignable	
  via	
  l’état	
  de	
  la	
  nouvelle	
  observa:on	
  

●  On	
  doit	
  résoudre	
  les	
  équa:ons	
  de	
  V(s)	
  parce	
  qu’on	
  es:me	
  V(s)	
  seulement	
  
indirectement,	
  via	
  notre	
  es:ma:on	
  de	
  P(s’|s,	
  a)	
  

●  Serait-­‐il	
  possible	
  d’es:mer	
  directement	
  V(s)	
  et	
  	
  
tenir	
  compte	
  des	
  interac:ons	
  entre	
  les	
  valeurs,	
  	
  
sans	
  avoir	
  à	
  passer	
  par	
  P(s’|s,	
  a)?	
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Apprentissage par différence temporelle 
●  Observa:on:	
  si	
  la	
  transi:on	
  de	
  s	
  vers	
  s’	
  a	
  une	
  probabilité	
  de	
  1,	
  on	
  a	
  que	
  

	
  

	
   	
   	
   	
  V(s)	
   	
  =	
  R(s)	
  +	
  γ	
  	
  Σ	
  s’	
  ∈	
  S	
  P(s’|s,	
  π(s))	
  V(s’)	
  
	
   	
   	
   	
   	
  =	
  R(s)	
  +	
  γ	
  V(s’)	
  

	
  

●  Plutôt	
  que	
  d’aCendre	
  la	
  fin	
  de	
  l’essai	
  pour	
  meCre	
  à	
  jour	
  notre	
  es:ma:on	
  de	
  V(s),	
  on	
  
pourrait	
  la	
  rapprocher	
  de	
  R(s)	
  +	
  γ	
  V(s’):	
  
	
  

	
   	
   	
   	
  V(s)	
  ←	
  (1-­‐α)	
  V(s)	
  +	
  α	
  (R(s)	
  +	
  γ	
  V(s’))	
  
	
  

où	
  α	
  est	
  un	
  taux	
  d’appren:ssage,	
  entre	
  0	
  et	
  1	
  
	
  

●  On	
  ob:ent	
  la	
  règle	
  d’appren:ssage	
  par	
  différence	
  temporelle	
  (temporal	
  difference)	
  ou	
  TD	
  
	
  
	
   	
   	
   	
  	
  
	
   	
   	
   	
   	
  V(s)	
  ←	
  V(s)	
  +	
  α	
  (	
  R(s)	
  +	
  γ	
  V(s’)	
  –	
  V(s)	
  )	
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Apprentissage par différence temporelle 
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u:le	
  si	
  on	
  veut	
  varier	
  le	
  taux	
  d’appren:ssage	
  



Apprentissage par différence temporelle 
	
  

	
  
●  Ini:alisa:on	
  

	
  
V(s0)	
  =	
  0	
  
V(s1)	
  =	
  0	
  
V(s2)	
  =	
  0	
  

●  On	
  va	
  u:liser	
  α	
  =	
  0.1	
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s2	
  s1	
  s0	
  

si	
  on	
  connaît	
  R(s),	
  on	
  peut	
  tout	
  ini:aliser	
  V(s)	
  à	
  R(s)	
  



Apprentissage par différence temporelle 
	
  

	
  
●  Observa:ons:	
  (s0)	
  -­‐0.1	
  

	
  
V(s0)	
  ←	
  -­‐0.1	
  
V(s1)	
  =	
  0	
  
V(s2)	
  =	
  0	
  

●  On	
  va	
  u:liser	
  α	
  =	
  0.1	
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s2	
  s1	
  s0	
  

parce	
  que	
  s0	
  est	
  visité	
  pour	
  la	
  première	
  fois	
  



Apprentissage par différence temporelle 
	
  

	
  
●  Observa:ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  

	
  
V(s0)	
  ←	
  V(s0)	
  +	
  0.1	
  (R(s0)	
  +	
  0.5	
  V(s0)	
  -­‐	
  V(s0)	
  )	
  	
  
	
   	
   	
  =	
  -­‐0.1	
  +	
  0.1	
  (-­‐0.1	
  -­‐	
  0.05	
  +	
  0.1)	
  
	
   	
   	
  =	
  -­‐0.105	
  
V(s1)	
  =	
  0	
  
V(s2)	
  =	
  0	
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Apprentissage par différence temporelle 
	
  

	
  
●  Observa:ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  

	
  
V(s1)	
  ←	
  -­‐0.1	
  
	
  
V(s0)	
  ←	
  V(s0)	
  +	
  0.1	
  (R(s0)	
  +	
  0.5	
  V(s1)	
  -­‐	
  V(s0)	
  )	
  	
  
	
   	
   	
  =	
  -­‐0.105	
  +	
  0.1	
  (-­‐0.1	
  -­‐	
  0.05	
  +	
  0.105)	
  	
  
	
   	
   	
  =	
  -­‐0.1095	
  
V(s1)	
  =	
  -­‐0.1	
  
V(s2)	
  =	
  0	
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s2	
  s1	
  s0	
  

parce	
  que	
  s1	
  est	
  visité	
  pour	
  la	
  première	
  fois	
  



Apprentissage par différence temporelle 
	
  

	
  
●  Observa:ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  

	
  
V(s0)	
  =	
  -­‐0.1095	
  
V(s1)	
  ←	
  V(s1)	
  +	
  0.1	
  (R(s1)	
  +	
  0.5	
  V(s0)	
  -­‐	
  V(s1)	
  )	
  	
  
	
   	
   	
  =	
  -­‐0.1	
  +	
  0.1	
  (-­‐0.1	
  -­‐	
  0.05475	
  +	
  0.1)	
  	
  
	
   	
   	
  =	
  -­‐0.105475	
  
V(s2)	
  =	
  0	
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Apprentissage par différence temporelle 
	
  

	
  
	
  
●  Observa:ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  →	
  (s1)	
  -­‐0.1	
  

	
  
V(s0)	
  ←	
  V(s0)	
  +	
  0.1	
  (R(s0)	
  	
  +	
  0.5	
  V(s1)	
  -­‐	
  V(s0)	
  )	
  	
  
	
   	
   	
  =	
  -­‐0.1095	
  +	
  0.1	
  (-­‐0.1	
  -­‐	
  0.0527375	
  +	
  0.1095)	
  	
  
	
   	
   	
  =	
  -­‐0.11382375	
  
V(s1)	
  =	
  -­‐0.105475	
  
V(s2)	
  =	
  0	
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Apprentissage par différence temporelle 
	
  

	
  
●  Observa:ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  →	
  (s1)	
  -­‐0.1	
  →	
  (s2)	
  1	
  

	
  
V(s2)	
  ←	
  1	
  
	
  
V(s0)	
  =	
  -­‐0.11382375	
  
V(s1)	
  ←	
  V(s1)	
  +	
  0.1	
  (R(s1)	
  +	
  0.5	
  V(s2)	
  -­‐	
  V(s1))	
  	
  
	
   	
   	
  =	
  -­‐0.105475	
  +	
  0.1	
  (1	
  +	
  0.5	
  +	
  0.105475	
  )	
  	
  
	
   	
   	
  =	
  0.0550725	
  
V(s2)	
  =	
  1	
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s2	
  s1	
  s0	
  

fin	
  de	
  
l’essai	
  parce	
  que	
  s2	
  est	
  visité	
  pour	
  la	
  première	
  fois	
  


